
Q.1 Choose the correct option 4 

i) ______ tourism deals with health facilities ,hospital etc 

a) Natural tourism      b) Landscape tourism        c) Eco tourism      d) Health  tourism 
 

ii) The type of settlement for this regions 

(Wheat fields of Punjab, Kaveri river valley, plains of UP and Bihar)is  ______ 

a) Dispersed       b) Compact      c) Nucleated        d) Radiating 

 

iii) ______  is the total population of India in the year 2011 

a) 191 million       b) 1200 crores         c) 101 crores     d) 1.21 billion 
 

iv) The ______ acts as an obstruction to the rain bearing winds coming from sea. 

a) Brazilian highlands        b) Guyana highlands     c) Escarpment        d) coastal Capricorn 
 

Q.2 Match the following. 4 

  Column ‘A’  Column ‘B’ 

i) Highest population in India a) Jammu & Kashmir 

ii) Highest population in Brazil b) U.P 

iii) Lower population in India c) Chhattisgarh 

iv) Lower population in Brazil d) Amazonas 

  e) Maharashtra 

  f) Sao Paulo 
 

 

Q.3 Answer in one sentence.(Any 4) 4 

i) Name two tourist destinations in India?  

ii) Describe the climate of Brazilian coastal areas.  

iii) Name the state of India where the male population is less than the female population according 

to 2011. 
 

iv) State the factor due to which rainfall varies in Brazil?  

v) What are the features of rivers originating from Western Ghats?  

Q.4 A] Observe the map answer the following question. (Any 4) 4 
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i) Name the river flowing from Orissa and then to Bay of Bengal?  

ii) Name 2  tributaries of River Indus  

iii) Name the river from Tibet?  

iv) Name two west flowing rivers.  

v) Identify the east flowing Peninsular rivers.  

 B] Observe the map of Brazil  and answer the following. (Any 4) 4 

 

 

 

i) Name the Highlands in northern side of Brazil?  

ii) Name the lines which cut brazil near Sao Paulo?  

iii) Name the lines which cut brazil near Mouth of Amazon?  

iv) Name two coastal cities of Brazil?  

v) Name the Highlands in Eastern side of Brazil?  

Q.5 Give reasons (Any 2) 6 

i) Wildlife in India is decreasing day by day.  

ii) Convectional type of rainfall is not prominent in India.  

iii) The imperial power which ruled Brazil also ruled on India.  

iv) The waterways are not developed in Brazil.  

Q.6 A] Classify the following activities in by ticking (√) in the respective column. 6 

 Activities Primary Secondary Tertiary 

Television Broadcasting    

Bee-keeping    

Coir and rope making    

Jaggery-making    

Producing blades of the plough    

Construction    

Extracting Iron Ore    

Automobile Production    

Rice Production    

Teaching    

Driving buses    

Providing longing and boarding facilities    
 

 

 OR  

  

 

B] Study the graph and answer the following question. 

6 



 

 

 

i) In which year the value of exports to Brazil exceeded the imports from Brazil?  

ii) In which year the trade with Brazil was most favourable of all?  

iii) Comment upon the Balance of Trade in the year 2013?  

iv) From which year the value of exports to Brazil have exceeded the value of imports from Brazil?  

v) What is import and export value in 2008?  

vi) In which year difference between import and export is less?  

Q.7 Answer the following in short. (Any 2) 8 

i) Differentiate Between the human settlements in Ganga river basin and the Amazon river basin.  

ii) What precautions should be taken during field visit?   

iii) What problems did Brazil and India face after independence?  

iv) What are the major causes of degradation of forest in Brazil and India?  
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